N = 0l & AF & F Al A

SN ASS
HH: NS0 AR
ool TS B (cro):xigl)
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 7|5 o HRE2
A0 919,460 917,492 1,968
NS0 AR F Y| 162,311 161,577 734
FolEmHL 35, 149 131,397 3,752
o S B K| 2 67,409 61,557 5,852
201 Ysregyl 42,379 37,079 5,300
01 AtR2eldl 10,080 10,280 A 200
OflLIEM2 MOt 2 10,580 10,280 300
- Mt 50,0002 * 2} 300 0 300
Ooget=8tl 9,780 10,280 A500
—SAEX, 27 FLUI(ELI) 1,620 1,800 A 180
-2Z2MS ZdSH FLH(EZE) 2,880 3,200 A320
02 22=3294H| 25,799 21,599 4,200
OFEA= MES HIIe=S 1,200 0 1,200
OXSRXIHI 6,900 3,900 3,000
-AEE2R RAH 2EE2 6,000 3,000 3,000
03 At2EHI 6,500 5,200 1,300
OUlEdE DARASHEH =EH| 4,720 3,200 1,520
OJIOt2SEHEL +=S0(E222) 1,780 2,000 2220
202 Oddl 6,300 7,000 A700
01 =UWHbI 6,300 7,000 A700
OLUHNZTEARFTTHI(ELR) 6,300 7,000 AT700
203 YREXY| 1,800 2,000 A200
08 AlBEZLEZY| 1,800 2,000 A200
ONMET AR =T (BAER) 1,800 2,000 A200
401 AIEHIZ 2O 16,930 15,478 1,452
03 EXoHYI 13,930 15,478 A 1,548
OS2 XML (E2=Z) 13,930 15,478 A 1,548
04 Al 3,000 0 3,000
OSUFA 2YFBAILE X 3,000 0 3,000
Fogssy 67,740 69,840 A2,100
301 ptEas 63,540 63,840 A 300
10 SAIAHIENS 2,700 3,000 A 300
OJOI2BI =M 22T U&S0 HOX &
A(EAR) 2,700 3,000 A 300
302 Ol MHEAZ 4,200 6,000 A 1,800
02 QIZtRITHOHE &3 4,200 6,000 A 1,800
OB401, A2S HAHST &It F0IB4(
HUZ) 4,200 6,000 A 1,800
27,162 30, 180 £3,018
NEBIEBIPN=
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